
Total No. of Pages : t

cs209/rr2a9

INTERNET

f<qffrcsrr{r ,rAia 1

Time allowedzYt Hourt

ECHNOLOGIES
2016

AI\[D WEB T

@

sfi c?a qftst+ t Ei rdowt t iiow t t
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1. gaqtam t z

(a) qqtq.fiE{ u{6
(b) frfrqffiorrTrilr
(c) dt+.fi qfr'qr f-{st $I 'TRT

(d) Bq1tffi{t6ttT6T

FTq ii t frt{ Isr ddqrn ffid d r$.r
6[ ermr r
(a) HrTP
(b) DHCP
(c) DNS

(d) Bqttndt*t$Tfi

FTq { + t-td cizH,m t
(a) PoP
(b) sMrP
(c) IMAP
(d) srtnqrft

1. What is Intemet ?

(a) A single network

O) collection of different networks
(c) Interconnection of local area

networks
(d) None of the above

Which of the following protocol is
not used in intemet ?

(a) HTTP

o) DHCP
(c) DNS
(d) None of the above

Which of the following is E-mail
protocol ?

(a) POP
(b) sMrP
(c) IMAP
(d) All of the above

P.T.O.
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4. IPV6TAsT slrsRt
(a) rz fua O) o+ ka
(c) tzs ke (d) zse ka

5. 2cr+ct

(") wr€qdtfurc
(b) sr*mgier{*ffq
(c) sqnffifii
(d) Bq+niTtst*Tfi

6. HTML ii o,trco,,{i k se HrNdL t r

t
(a) <! / et{ l/>
(b) <! - eir->
(c) <! + etr+ *>
(d) <,! o/o dto/oo/r>

7. HrML ii qdRrrryn ++ qr-d {f+ t
(a) *",Pro lS
O) €rqcfurdqd
(c) t scq$
(d) **o (u), O)

8. HTML ii ga IEEEr+ tB'r En€cI fl+q w
ssn t
(a) <h,>t<q>
(b) <hl>t<h5>

(c) <ht>+<h6>

(d) <hr> t <he>

e. HrML ii tns st Etktr v+r+ tq sfr
t'rt
(a) <i>

(c) <itl>

2036

IPV6 address have a size of
(a) 32 bits (b) 64 bits

(c) 128 bits (d) 256 bits

Telenet is

(a) clients€rverprogram

(b) file transfErprogam

(c) both of the above

(d) none

Which of the following is the correct

HTMLtagto comment in HTML ?

(a) <t / and L/>

O) <! - and->
(c) <! # and *#>
(d) <t o/o ando/oo/o>

The most common HTML lists are

(a) Ordered lists

(b) Unordered list

(c) Random list

(d) OnIy (a), (b)

In HTML how many headings are

defined ?

(a) <h,> to <hu>

(b) <h,> to <hr>

(c) <h,> to <hu>

(d) <hl> to <he>

Which of the following is correct
filML tag to make text ltalic ?
(a) <i>

(c) <itl>

(b) <il>

(d) <italic>

5.

7.
'-

8.

9.

(b) <it>

(d) <italic>
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10. HTML { iframe or rfrr1fr61X

(a) \'6 fu+,'6t {€tftffiii Evrt+k
(b) qr+. t{n +t (gt tild ii Evlfi iq
(c) qr fr€r frt Esfr fir+w ii qqti

iq
(d) qo ffitr d Eet +{i-q it <nt}

iq

u. qrqr fuq 6i vdT {r{s qnr

nsqqteitrqdrt r

I
\

\

12.

13.

fqq it t frt{ qar lwq si +ffir
qftrrrkdqrartt

(a) tTqwfufrfifurrqtur
(b) aqrfersfudrr qlqr

(c) sffi{EertftiPsfiw,qTrr.{sr

(d) EFr+n{t+t${fi

ftE{ f+t{r rnr ffi qtd Hs 6i qisr

qnrtr

(a) qrt*t$E
(c) Hr{dqFR

(a) select

(c) switch

(a) new

(c) delete

(b) idtnr
(d) ile

o) if
(d) for

(b) this

(d) typeof

t4. frr+ qrqr kqor .ffiamTt'

15. lTq iI t gr{fffi ffi\'Td =rn t 6tr+r

ftffiqE
(a) 2 names

(b) first-and-last-narnes

(c) first and last

(d) srtniit6ttT6T

(3) 2036

In HTML an iframe is used to

(a) Display a link with in a link

(b) Display a table with in a table

(c) Display a picture with in
picture

(d) Display a web page with in
web page

11. Javascript is also called as

server - side Java script.

(a) Microsoft O) Navigation

(c) Livewire (d) Native

Which of the following best describes

Javascript ?

(a) Low level programming language

O) Compiled scripting language

(c) Object oriented scripting language

(d) None ofthe above

Using which staternent sPecific

condition is tested ?

(a) Select (b) if
(c) Switch (d) for

Which of the following is not a iava
script operator ?

(a) new (b) this

(c) delete (d) tlpe of

Which of the following is not a valid

name / in Javascript / ?

(a) 2 names

(b) first-and-last-names

(c) first and last

(d) None of the above

10.

1,2.

13.

14.

15.
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16. css Erid Er \rffi&H t
(a) .CDS

(b) .DHTML

(c) .CSS

(d) sqtffi{t6ttT6T

17. DHTML

lqryort r

?PII

(a) DOM ekCSS

(b) css *{HTML

(c) HTML *rqqr k,q
(d) rqdffi it t 6tt ftt

css r5'r tflrq-dr i
(a) d qrwmrft{ilr

(b) frFra *Ecr +t Anrr- d ertr
IKFI IFFTT

3qtn dif (a), (b)

r;c+{il t t6t$ftT

css ii qire sn6R 6i \reltrq{ ffirf 6t
{srt t
(a) 'Px' silf 'Pr'

(b) 'Px' st{'Ph'

(c) 'Px' 3t{'Pz'

(d) 'Px' *f 'Pt'

iFr

18.

(c)

(d)

19.

(4) 2036

16. What is the extension of CSS file ?

(a) .CDs

(b) .DHTML

(c) .CsS

(d) None of the above

17. DHTML is a combination of
and 

-.
(a) DoM & CSS

(b) css & HrML

(c) HTML & Java script

(d) None of above

18. Property of CSS

(a) Conhol layout

(b) applies different layout

ditrcrent media

both of (a), (b)

None of the above

In CSS following units make the font

size absolute ?

(a) 'Px' afld'Pr'

O) 'Pxl and'Ph'

(c) 'Px'and'Pz'

(d) 'Px' and'Pt'

--.''

(c)

(d)

19.
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20. HTML stqita *- qnr uia strs+ 6t
ilfr+trilfrirt
(a) Embeeded CSS with <style>

element

O) lnline CSS with style attribute

(c) ExtErnal CSS with <link>

element

(d) Bntnrrfr

cGI i6r wr {rc }
(a) E.qequftevge$s
(b) +iT{ H Eu:ah{

(c) *.rr{fute{+:s
(d) sntn{t+ttftT

CGI \r6'frqd[ 6r {T6t, d 6d urtr t
(a) +qvd{*qrsErat{
O) *e rdrc{<ra*qrc
(c) Bqttff dit (u), O)
(d) Bcttn{tfrt{ftT

CcI dTrq 6i srwit q,r qffi&H d
rr+art
(a) CGI,'PL

o) cGI, .BL

(c) CGI, 'DL
(d) sr+ndtsttftT

CGI i[ frq if t tsrm rqnt 
'

(") $ubil{c
O) Frt+'{rr

(c) t}{€
(d) Brirn qS

22.

\

Y

17

24.

(s) 2036

The different ways to allocate styles

with HTML document are / is

(a) Embeeded CSS with <style>

element

Inline CSS with style attribute

Extemal CSS with <link>

element

All of above

Full form of CGI

(a) Computer Graphics Interface

(b) Common Gateway Interface

(c) Common Graphics Interface

(d) None of above

CGI is a set of rules that works as

(a) lnterface between web sewer

(b) External program on web server

(c) Both (a) and (b)

(d) None

Extensions of CGI program files can

be

(a) CGI,'PL

o) ccr, .BL

(c) CGI,'DL
(d) None of above

Which are header tlpes in CGI ?

(a) Content type

(b) Location

(c) Status

(d) AII of above

20.

(b)

(c)

(d)

21.

22.

23.

24.

P.T.O.
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2s. ccl+tHsdrt
(a) ffi4c{fuf{=cT

O) T rqrs{fut{{67

(c) {fltIRoI

(d) sr{tff e'fr

26. Perl i[ Qi- 6t Efltcr qmr t
(a) @

(c) $

(b) %

(d) *

27 . Perl il {+tr{ 6} Evrtqr qmr t
(a) @

(c) $

o)%
(d) *

zB. f=rq ii t st{ u rrfirrtrq ffdt Perl if

fi'rrfi*dr
(a) + O)

(c) * (d) t

29. Ped *.eraffi{qt

(a) *.-irt
(b) \t
(c) t*d
(d) Bqnffi {S

30. fiTH fr t +tt * srra +1+€'t T6+ it
qqErrrlGerl C)

(a) STDIN

(b) STDOUT

(c) STDERR

(d) B{tn{tsttTfi

(o 2036

25. Properties of CGI

(a) PlatformlndePendent

(b) LanguagelndePendent

(c) SimPle

(d) All of above

26. In Perl :urays are denoted bY

(a) @

(c) $

(b) %

(d) #

27. In Perl scalet is shown bY

(a) @ O) o/o

#(c) $ (d)

Which of the following mathernatical

op€rator is not used in Perl ?

(a) +

(c) d'

o)
(d) t

Data types of Perl arelis

(a) Scalar

(b) Array

(c) Hashes

(d) All of above

Which of the following frle is used to

read from ke$oard (in PerD ?

(a) STDIN

o) srDour
(c) STDERR

(d) None of above

29.

30.
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Question No. 1 is compulsory, answer any five questions from the remaining.

sd6ew #uqfl qFrtalfiqqrcW$M6?rdfw t

Solve all parts of a question consecatively together.

sdtlrewr,l ad'yudrrprT #fqq r

Start each question on afresh page.

qHqrqrat Cerarai* +lmn Cqi*# aqar'ellr4t t
Only Engtish version is valid in case of difference in both the lnnguages.

(iv)

t

I

r.

I

dt: O
Note:

(ii)

(iii)

l.
\
:

(i) IP q*s wr t r
What is IP Adress ?

(ii) HTML wrt z

What is HTML ?

(iii) ccr Hrt?
What is CGI ?

(iv) Perl IFII +rq qrtr t r
What is use of Perl ?

(v) Css flrt?
What is CSS ? (2x5)

P.T.O.(T

2036
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z. ftrrfafirc*'ftri nrur +tsfafieri ,

Write HTML code for the following :

BTE& JODIIPUR

SCIIEME : II YE.AR COMPUTER EI.{GINEPRING

SUB.IECT NA\,TE Theorv Mark XYZ RESTILT

Propramming in C 70

PromotedDisital Electronics 70

Microprocessor 70

Web TechnologY 70
Registrar (12)

3.

4.

(i) qrqr flwq it qs utqrc ffi qi d Tqt i5t sum m firwr rqfirn q't t

WriteaJavaScriptprogaqtofindthesumoftwonumbersandshowresults.
(ii) HTML t'List trr 6t fu{drct qrgrgt t

Exptain List tag of HTML in details' (6+6)

CTqfldfufl tq +i 3qr6{or qf6d {€rtA,
Explain the following tag with example :

(i) <SPAN>.........<1SPAN>
(ii) <tMG>........-<1IMG>
(iii) <FRAME>......<IFRAME>

(i) qrqt fimq t dn {H€ 6} qrsr{t r

Exolain the control statements of Java Script'

(ii) H'ffi,;ffi"-i*i;-ffi r."m+-+tu $RIq tufisa r

WriteafunctioninJavaScripttofindfactorialofagivennumber.

(i) Perl t[ r'ofrsn frH d r rt 100 ;rEmist sum +ror d t

Write aprogftIm in Perl to find sum of I to 100 numbers'

(ii) rdit €rtsit{r qtstqrgrwi t

Explain array and hash array in Perl'

(D cGI d GET ge Posr fqFr 6i qqg6i r

ExPlain GET and POST method of CGI'

(ii) wt'et sr{f, ircfr{rr or qq-flEq r

Explain file handling in Perl'

ftqtdknqr{tq{qffifafirt 
'

Write short notes on the following :

(i) Cookies

i,il fr fr 3Tr+'i qIa-cr€n{eq{

Environme'nt variables in CGI

(iir) DHTML

(4x3)

(6r-6)

(cF6)

(6+6)

6.

7.

8.

(4x3)


